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This Question Paper Booklet contains 23 printed pages.
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General Instructions :

—_

. Candidate must write his/her Roll Number on the first page of the Question Paper Booklet.

2. Please check the Question Paper Booklet to verify that the total pages of the Booklet and the total
pages printed on the top of the first page tallies each other.Also check to see that the questions are in
sequential order.

w

. Making any identification mark in the answer-book of writing roll number anywhere other than the
specified places will lead to disqualification of theé.candidate.

. Write your Question Paper Booklet Code No: 53/HIS/1, Set [A] on the answer-book.

(G2

. () The Question Paper Booklet is in English/Hindi medium only. However, if you wish, you can
answer in any one of the languages.listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani; Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.

You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Important Instructions

1. This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as NEW SYLLABUS and the other
based on pre-revised study material marked as OLD SYLLABUS.

2. NEW SYLLABUS is compulsory for those who have registered for 2015-16
(Block-I and Block-1l) admission and Stream-II of 2016 admission.
(Those who are appearing in September-November, 2016 under
NEwW SYLLABUS.)

3. OLD SYLLABUS is compulsory for those candidates who had registered
before 2015-16 (Block-I) admission.

4. Candidates are to answer only one Question Paper from the given two
Question Papers.

5. Candidates are not allowed to mix questions from the two given
Question Papers.

Hewui fdw

1. 39 IH-9F Ifedent | 31 T9-U9 §—Uoh GRNfed 3198 amul W egiia & ™ ®
TAT TSR AfRd ¥ AT TN TINEH ¥ 9 AeeH @i W oemdnia g e W
QAT UTSTeRT 3fRd 2

2. AT UTSAHH 37 Fienffan & forw 37faard & fomar Fmied 2015-16 (sl
3R sAleh-11) TT IMEI-I, 2016 H 33T &1 (3% [o78 ST fHarsi-Aarsw, 2016 H
U UTSAHH 3 37qfd gdien § 934 57 @ 21)

3. YT UTSSIeRy 3 Wentai o fore erframd @ et amee 2015-16 (scte-1)
* U8 BT 2

4. gfteqreff fou U S TH-= A O Had Tk TH-F 9 & K ford |
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NEW

This Question Paper contains 33 questions.

8 U-U3 % 3fdiid 33 U 2|

MATHEMATICS
o
(311)
Time : 3 Hours | [ Maximum Marks : 100
q ;3 E0e | [ gt : 100
Note : (i) This Question Paper consists of four Sections, viz., ‘A’, ‘B’, ‘C’ and D’

containing 33 questions.

(i) Question Nos. 1 to 10 in Section ‘A’ are multiple-choice questions. Each
question carries I mark. In each question, there are four choices (4), (B), (C)
and (D) of which only one is correct. You have to select the correct choice
and indicate it in your answer-book by .writing (A), (B), (C) or (D) as the case
may be. No extra time is allotted for.attempting these questions.

(iii) Question Nos. 11 to 16 in Section ‘B’ are very short-answer questions and
carry 2 marks each.

(iv) Question Nos. 17 to 28 in:Section ‘C’ are short-answer questions and carry
4 marks each.

(v)  Question Nos. 29 to 33 in Section ‘D’ are long-answer questions and carry
6 marks each.

(vi) All questions are compulsory. There is no overall choice, however,
alternative choices are given in some questions. In such questions, you have
to attempt only one choice.

fewr: () SO IW-TH33YAE, S AR @vel o, 9, @ qur g # fawfva 2
(i) @ve ‘e H 1H AR 10 d% dgioshed WA 2, 5 wew & fo 1 o freffa 21
T T F (A), (B), (C) a1 (D) IR forheq fou o 8, f5d his weh el B | 3nweh! e

foehed g1 ® qom 1ot IW-YfEas | (A), (B), (C) 39@T (D) S 9 &, IW h ' H
ToTET 81 37 U o IW e o fore h1g eAfafes w7 fean s

(i) W@UE ‘& H A G 11 ¥ 16 d% Afd 7-3709 TH & 901 I % 2 37 fuffeq F
_ : . _ . . .
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(v) @ T § U U 29 ¥ 33 I dH-30T U & a1 UH k6 3k i T

(vi) |t g afrEr ) qol yeH-u O feen 7€ 7, R off 39 uwl O orafes foeed 1w
Tt gl 0 A 3Rl U 2 fashew gt T 2

SECTION-A
EGus—-3T

00
1. The matrix A={0 3
30

(A) scalar matrix
(B) diagonal matrix
(C) unit matrix

(D) square matrix

00 3
dqE A=|0 3 0| TH

300
(A) few =g R
B) foel emee @
(C) THE IME ©
(D) =it erege R

2. If A={a, b}, then the number of binary operations that can be defined on A is
e A={q b}, A A W uiwiva fg-snurd @freet i gen

A) 16
(B) 4
C 2
(D) 1

www.FirstRanker.com

311 /HIS/103A 4



:l » FirstRanker.com

A Firstranker's choice ) .
www.FirstRanker.com www.FirstRanker.com

3. The principal value of cos_l(— %) is

cos_l(—%) %l &I HH H

®
® -
© =
I

2

2 3
4. The degree of the differential equation %y _(dy) <sin? x =0 is
clx 2 dx

2. \2 3
WW(M} —(dyJ —sin? x = 0 & T

dx? dx
A) 3
(B) 2
< 1

(D) not defined
Ao

5. J.ex(sinx+cos x)dx is equal to

Iex(sinx+cos x)dx TR 7

(A) e cosx+c
(B) -e*cosx+c

(C) e*sinx+c

.
(D) =€ SIIITXTC

www.FirstRanker.com
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6. J.tanxdx is equal to
ftanxdx T
(A) sec? x+c
(B) secxtanx+c
(C) log|secx|+c

(D) log|cosx|+c

sinS5x

7. lim
x—0 X

is equal to

) in5
lim S22 e
x—0 X

A 1

(B)

Ut~

C) 5

(D)

o

8. The differential coefficient of sec (‘can_1 x) with respect to x is

x % & sec (tan_lx) ARSI CEN W 2

X
(A)
1+ x2
X
(B) -
1+ x

www.FirstRanker.com
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A

~ — ~ ~
9. The angle between the vectors d=i+ jand b = j—k is

afigit d=i+ AR b= j-k % ot B w03

® -3
® 3
© =
D) =

10. Which of the following sentences is not a statement?
(A) The sun is a star.
(B) Lahore is in India.
(C) Every rectangle is a square.
(D) Mathematics is a fun.
Fafaftaq a8 ¥ SH-91 T HUd T3t 27
A) HI Tk aW gl
(B) VR 9Rd H 2|
(C) USH IAEd TH i 7|

(D TIOTT Uk g 2
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SECTION-B
wus-a
2 4 -2 57
L IfA= and B = , find 3A-B.
3 2 3 4
2 4 -2 5
Ife A= I B = q 3A-B EASIY
3 2 3 4/ i !
Or / 3rgar
w1 2 3liaz® ° 0 fnam trix A
O 4 1 + = 1 O 3, 1n € matrix .

1 2 -3 3 56
m%[o . 1}+A:[_1 0 3},aﬁ3ﬂw§AaﬁaﬁﬁE|

. Does the following graph represent a function? Justify your answer.

1 A T gan oE UF wo I e I 87 9 IW F W H de TEqd i |

NY

N

vy’

d-y

. If y=e*cosx, find —=.

de

2
afg y = e¥cosx, Fﬁzxgiﬂﬁ hIfSTT |

. Evaluate :

AE I i
Ig/zcosx LS X gy

www.FirstRanker.com
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Given below are two statements :
p : 115 is a multiple of 5.
g : 115 is a multiple of 7.

Write the compound statement connecting these two statements with ‘and’ and
check its validity.

= fou gu @1 wUF 39 YR T ¢
p : 115, 5 &% T TN 2|
q : 115, 7 % &% T 2|
T 3 HUA B S GASE 9 e Ty wed fafgu ot e Suar Sifm)

SECTION-C
Qus-H

1

. IfA=|-4|and B=[-1 2 1], then verify that (AB) = B’A’.

3

1
e A=|-4| I B=[-1 2 1], a@ Gaxfua s % (AB)’ = B’A".
3

. Using properties of determinants, show that

QrfirRt & ol w1 3uE e frg s

y+z x y

Z+X 7z X =(x+y+z)(x—z)2

X+y y z

Or / 319t

Using determinants, find the value of k so that the points (3, — 2), (k, 2) and (8, 8)
become collinear.

TRUTERT 1 T ek k &1 98 W 3 i, faes foe foag (3, - 2), (k, 2) 3R (8, 8§)

g
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19. Prove that

forg hifsrg 6

20. Let f:R — R be defined by f(x)=7x-3. Show that the inverse of the function f
exists. Hence find f -1

a9 T f:R > R, f(x)=7x-3 3R uieniyd 2| swiisy fF wem f & Ufaeim =1 sifcdea
21 e 7! g Al

21. Examine the continuity of the function f defined by

i, x#0
fle)=1 Ixl
1, x=0
at x=0.
xzoéﬁl%m
i, x#0
flx) =1 1x]
1, x=0

R GRS Bl f % dided a1 udeqor i

22. If x=a(® -sinB) and y = a(l+cosH), find Z‘z at 9=g.

A x = afo - sin6) ¥ y = ai+cosd), i 6= % gmw|

23. Solve the following differential equation :
= sasa e 7 HINT

x@+2u = x2log x

www.FirstRanker.com
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Or / 3rgar
Verify that y =tan~! x is a solution of the differential equation
2,d%y , dy

1+ —+2x—==0
1+ x 12 xdx

2
geartua s foh =tan‘1x,Wmﬁwmxz)ﬂwx@:oww%l
Yy 2 dx

24. Evaluate :

TH I I
J- log x
x(1+1log x)(2+log x)
Or / 3194t
Evaluate :
TH I I
2
-1
[ 45 dx
x +x“+1

25. Evaluate :

HH J1d hifNT :

/2 1
———dx
'lg 1+ Jtan x

26. Find the intervals in which the function defined by f(x)=x°-9x2+24x+12 is
(a) increasing and (b) decreasing.
TE IR Fd I, O f(x) = x3 -9x2 +24x+12 T IRAMG B (F) F€HAE q
(@) g 2|

27. Find the ratio in which the line segment joining the points (2, — 3, 5) and (7, 1, 3)
is divided by the xz-plane.

IE AU @ hifere, feR faege (2, -3, 5) ¥R (7, 1, 3) W AN T W@wEve

P G R R IS C A

www.FirstRanker.com
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— —

28. Find a unit vector perpendicular to both the vectors a+b and a-b, where
A~ A~ ~ — ~ A~ ~
d=i+ j+k and b =i+2j+3k.

G+b TN d-b A GRE F wwEd uwE @R FE OAE, SE d=i+ j+k @
Z=Z+2}'+3I€

SECTION-D
RCREEE

29. Solve the following system of linear equations using matrix method :
stege fafer o1 swm @k frefefad e wdfieor fwm & ga ST
x-y+z=4
2x+y-3z=0
xX+ty+z=2

Or / 3r9at

Find the inverse of the matrix A given below using elementary transformations :

TR T i w1 S e =T gu see A w1 ufdam 3| i

2 -3 3
A=12 2 3
3 -2 2

30. Show that the area of a right-angled triangle of given hypotenuse is maximum when
the triangle is isosceles.

forg i for fou g vl arct wmeior Bigs &1 &9%a sAfeewad g, e a8 Bigs wmfsag 7|
Or / 3gar
Find the local maxima and local minima of the function defined by

fl)=2x3-3x% -12x+8.

2

f(x)zzxq—fix —12%+38

www.FirstRanker.com
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31. Using integration, find the area of the smaller region bounded by the ellipse

2 2
X 1Y _1and the straight line X Y.
9 4 32

2 2
Wwwmaﬁgﬁ%+yj=16mw%@g+%:lmﬁi®ﬁ?é'araw‘r%'arw
T i

32. Find the equation of the plane passing through the points (-1, 1, 1) and (1, -1, 1) and
perpendicular to the plane x+2y+2z=35.

forgett (-1, 1, 1) 3R (1, -1, 1) ¥ T W a0l 39 GUAA 1 GHEO Fq hISIT, S
Wx+2y+2z=5WW%|

33. A dealer has ¥ 15,000 only for purchase of rice and wheat. ‘A bag of rice costs ¥ 1,500

and a bag of wheat costs ¥ 1,200. He has storage capacity of ten bags only. The
dealer gets a profit of ¥ 100 and ¥ 80 per bag of rice and wheat respectively.
Formulate this as a linear programming problem to get maximum profit and solve it
graphically.
TH ARk T AEd HR TR Slied % futed € 15,000 B WEA %k TH AR w qA
¥ 1,500 @1 T % TH A H qed T 15200 2| Ik U hddl @ AR T@H U e
Y 7| AN FEd 3R T % TEHL AR W HA: € 100 q°1 € 80 @I WH Al B
SMUhaH M T A o 0 3@ GHEN * g TUTH SHE § ®OWNd i 3R g9
e fafy @ 5@ S

www.FirstRanker.com
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OLD

This Question Paper contains 28 questions.

T8 UH-UF % IAiid 28 I 2|

MATHEMATICS
o
(311)
Time : 3 Hours | [ Maximum Marks : 100
q ;3 E0e | [ gt : 100
Note : (i) This Question Paper consists of two Sections, viz., ‘A’ and ‘B’.

(i) Al questions from Section ‘A’ are to be attempted. However, in some
questions, internal choice is given.

(ii) Section ‘B’ has two options. Candidates arerrequired to attempt questions
from one option only.

MEsT: () 39 T1-99 § 91 U8 —@Ue 31 a1 @Ue d |
(i) @uE ‘3 % @t U B TA FAT B FS T % Feia fashen fw Mw F)
(i) @Ue ‘T # & fawen | whenfiai Rl Fact wew foeked & & Tl F IW A Bl

SECTION-A
Ques-3A

1. Which term of the AP 20, 19%, 18%, 17%, ... is the first negative term? 2

wieR Aoft 20, 191, 181, 172, . 1 FH-A1 g yuH HOHF U 77

2. In how many ways 5 men and 4 women can be seated in a row so that no two
men are together? 2

5 geul qo1 4 FeEi w1 uw uftk § fohad YR W @R ST uehdr @ TR @I Q1 gew uehdy

T At
www.FirstRanker.com
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3. If A={1,2,3, 4}, B={3,4,5,6,7}, C={6,7,8,9,10,11} and
D ={9,10, 11,12, 13}, then find (AU D)n(BuUC). 2
Ife A={(1,2,3, 4, B={3,4,5,6, 7, Cc={6,7,8,9,10,11} qaon

D =1{9,10,11,12,13} g, @ (AuD)n(BUC) Id &It |

4, If f(x)=x+l, prove that [f(x)]® =f(x3)+3f(1) )
X x

A flg=x+ %, A g A e (0P =f(x3>+3f(i).
Or / 3Fgan

If f(x)=3x+1 and g(x)=x2+2, then find (a) fog(x)-{and (b) (g -f)(x)
Is feoglx)=(g-f)x)?

T f)=3x+1 TN g)=x2+2 B, @ (F) foglx) A (@) (gof)(x) T HIC
F foglx) = (g o f)(x) T

5. Prove that

frg shifste

6. Find n, if 2*71p, :2"t1lp —11:42 9

gfg 2n-lp, 2ntlp —11:42 %, @ n &1 WH ¥ HiC)

7. Find the equation of the ©circle concentric with the circle
x2+y2—6x+2y—11=0 and passing through the centre of the circle

x2+y2=16. 2

3G g9 H1 GHEROT F@ A, ST gE x2+y2 —6x+2y—11=0 H GhE T qA g

2 2 16%%%%&5‘ D,
X = < ALUMNLRYL

www.FirstRanker.com
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8. If 1, w, ®° are cube roots of unity, then prove the following : 2
I 1, 0, 0? IHE F TG 7, @ = g Al

1-0+0?)°+(1+0-02)° =32

9. Examine the continuity of the following function at x =-1: 3
7 ®eM % fT x = -1 W ¥ad 29 F qhem HT

1+3x, x>-1
2, x<-1

-]
Or / 3194t
. dy . .
Find e if x =a(t+sint) and y = a(l —cost).

A x = a(t+sint) A y = a(l-cost) 7, a Zi A ifsT)

10. If one root of the equation ax?+bx+c=0;a+#0 be square of the other, then

prove that b3+ac?+a?

g T ax?+bx+c=0, a=0 & 'TH oI, W qA & 01 ¢, a fag Hifw fF

2 2

+a“c=3abc. 3

b3+ ac? + ac = 3abc.

Or / 31gar

Express the following complex number in the form of x+yi :
= affs @ & x+yi &% ®9 A E HINT

3+1
4-2i

11. Find : 3

Sl'lﬁﬁﬁm:

1+sinx

“ 1+cosx
www.FirstRanker.com
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Or / 3rgar

Find the equation of the tangent to the curve 4x2+9y2 =36 at the point
(3 cosH, 2sin”h).

TF 4x°+9y? =36 & fog (3 cosh, 2sin6) W TI-T@T HT T Fq IS

2 0 1
12. If A={2 1 3], find A% _5A+ 4I, where I is an identity matrix. 3
1 -10
2 0 1
g A={2 1 3|2, @ A%-5A+4] I/ HIS, &l [ Th deoHs AT 2|
1 -1 0
Or / 319at

Using the properties of determinants, prove the-following :

GRfUTRI % TUTEET 1 TAN e o AT

b+c a a
b cta b |=4abc
c ¢ atb

. A bag contains 3 red, 6 white and 7 blue balls. Two balls are taken out of

the bag, one after the other. Find the probability that the drawn balls are white
and blue. 3

TH I H 3 A, 6 T%g Al 7 el e 21 O H W QA e, Uk *k q0G Uh, el TS
TRkt a hifs for femreft 1 1S whe qen Hfieft 21

Find the equation of a line passing through the mid-point of the line segment
joining the points (5, 13) and (-4, 1) and perpendicular to the line
3x+4y-7=0. 4

3G Y@ w1 gl g i, s feege (s,

c Y =V

13) A1 (- 4, 1) = T areft Temave

D,
o1

Heg o S &

www.FirstRanker.com
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i
15. Ify= |2 S02% 5 q Y
1+sin 2x dx 4
1-sin2x d
af y= |TSN2X 8 g dY e
Y 14+sin2x @ dx o
Or / 3rgar

If y=x*+x"% find @
dx
ARy = xS0 @ Zfﬁ B CEAELT

16. Find the mean and variance for the following data : 4

T stiel & fou mew qen v @ il

Marks 15-25| 25-35 35-45 45-55 55-65 65-75 75-85
37
No. of students 3 S 9 12 15 4 2
feremTforat @1 @
17. Find the term independent of x in.the following expansion : 4
7 TOR § x ¥ @ad 98 Jq RN
9
(3x2 - 1)
3x
18. Solve the following differential equation : 4
= s1aea TR g I
dy 2

sinxa+ycosx =2sin“ x cosx

19. Find the equation of the parabola whose focus is (2, 3) and whose directrix is
x-4y+3=0. 4

W Waedm # THiEw Ja hifee, e Ty (2, 3) ® oawnr e e

4 o D,
X—"ayg+To=U =&l

www.FirstRanker.com
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20. Find the general solution of the following trigonometric equation :

fr= Benufrde geftemor w1 =99 ga d hINT

cosmx+sinnx =0

Or / 3194t

Prove that [a cos — C} = (b+ ) sin 2 , using sine formula.

T WA ¥ i A fg AR R {acosB_ch(b+c)sing.

21. Using matrices, solve the following system of equations :

SRl g T aie @ &1 8 i
x+2y-3z=-4
2x+3y+2z=2
3x-3y—-4z=11

22. Evaluate : 6
HE J1A I
s Traime &
0 1+sinx
Or / 3rgar
Find the area of the region bounded above by y = x+6, bounded below by
y= x? and bounded on the sides by the lines x =0 and x =2.
W &9 H A% Fd IS, sﬁw@y x+6 30 @1 B, 9 @ y=x? gw
gHT IR O @31 x =0 a9 =50 R-\ LU DU A
www.FirstRanker.com
ITPTO
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23. Find the sum of the first n terms of the series 1.3+3.5+5.7+ ... . 6

Jft 1.3+3.5+5.7+...% YUH n Y& &1 AN Fd hisC|

24. A window is in the form of a rectangle surmounted by a semicircular opening.
If the perimeter of the window be 30 m, find its dimensions so that greatest
possible light may be admitted. 6

TH APAHR faghl W Th AgaehR G 9n o 2| A faedht @ afmm 30 Ho 2,
ql Ragehl it famd 91a fifsie aifer Rageht & Afeehan |wTfaa ST 7@ 3T |eh |

SECTION-B
Qus—d

OPTION-I
IECTR |

( Vectors and 3-Dimensional Geometry )

( wieer qen fr-smam sarfuta )

25. Find a unit vector parallel to the resultant of two vectors a= 32+2}'— 4k and
N

bzf+}'+21€. 2

@ a4 =31+2j— 4k TN b =1+ j+2k ¥ uRord @Y ¥ R T qE (IFE)
gfewr @ i)

26. If 3=32+23’—61€: and E= 42—3}'+ k, find 3-1_)). Also find the angle between

a and E 3

aft d=3i+2j-6k A b=4i-3j+k %, @ a-b I@ FMTC & 7N b F = B

IO ST ST ShITST ]
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27. Find the equation of the plane passing through the points (O, 2, 3), (2, 0, 3) and
(2, 3, 0). 4

39 HAA 1 gl §Iq shifere, St feeget (0, 2, 3), (2, 0, 3) @A (2, 3, 0) ¥
B ST 2

Or / Jgar

Find the equation of the plane passing through the points (-1, 2, 3) and
(2, =3, 4) and which is perpendicular to the plane 3x+y-z+5=0.

39 guaa &1 gt Jd ifere, s feegen (- 1, 2, 3) @1 (2, -3, 4) ¥ B Sl
R U THAA 3x+y-2z+5=0 % oA 2|

28. Find the centre and radius of the circle given by the equations
x2+y2+22—6x—4y+122—36=0, x+2y-2z=1 6

x24y2 422 6x-4y+122-36=0, x+2ys2z=1FW V& 2

OPTION-II
IEET |

( Mathematics for Commerce, Economics and Business )

( afors, 3redvTrEr e =ATIR % foru v )

25. A man bought ¥ 12,000 of 10% stock at ¥ 92 and sold it when the price rose to
¥ 98. Find his total gain and gain percent. 2

T AR 4 10% H1 T 12,000 F Wik, T 92 % W& ¥ WA q1 IR oI ¢ 98 BH
R o9 T 3He F@ a9 qo A iR I1a i
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26. Construct by simple average of price-relative method, the price index of 2004,
taking 1999 as base year from the following data : 3

ToAgATal o W Hiem o {fd § SRSl ¥ 1999 I YR 9¥ HEe a¥ 2004 %
T goa gk I HINY

Commodity (J%]) A B C D E F
Price in 1999 (in ¥) | 60 | 50 | 60 | 50 | 25 | 20
1999 # 7o (¥ #)
Price in 2004 (in ¥) | 80 | 60 | 72 | 75 | 375 | 30
2004 7 77 (¥ #)

27. A person at the age of 25 years takes an insurance policy of sum assured
& 50,000 for 30 years term. Calculate the premium for-annual payment from
the following details : 4
UF Afh, ol 3y 25 a9 2, ¥ 50,000 FH SHT GifcRl 30 aut hi Fafy * faw T
2| = foeo & R anffe spram @ fore it oo Aifse

Tabular premium/¢ 1,000 : T 40
arferert Hifiem /€ 1,000
Rebate for large sum assured : ¢2/7 1,000
arferer st Tfar & ferg w2
Rebate for annual payment : 3%
ATk o forg e
Or / 3Igdr

Shivam Enterprises manufactures 60 units of steam-iron per day and its input
cost is ¥ 200 per unit. The company adds a value of ¥ 100 and then sells it after
paying 10% excise duty. Calculate the final price of each steam-iron and how
much total duty has been paid at the end of the month, when the transaction is
without Cenvat.

forem TretuEsE 60 3HE WH-I9 (iron) IAfT s 2, N9 W 3R =@ € 200 ufd
T B1 HOA G § € 100 SeR 3 W 10% Scae-3osh L, 3% S=dl 81 Tedeh
H-U9 F AfH qod F1q AT a1 F1d HISC 6 78 % 37d § Fa Fhar ae-yo

G| B IS | S | A B L R B O e o
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28. The marginal revenue function for a product is given by

6
= -4
- (w—sﬂJ

Find the total revenue function and the demand function. 6

T IA1E T HHA 3T Fed

6
= -4
MK (m—azj

3 UEd 21 FA T Held qol T e Fd T |

* ok
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